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  )2(��$��ن : ا��دة     
  

 :أ��ب �)��ط ��'�� ����� �� �ن ) 1 : ا���ر�ن ا�ول

A = 35 – (40 : 8 ) + 15 
B = 9.7× 4 – ( 27 – 12.3 ) × 2 

  ، ���ز��� A  ،Bر�ب ا�$داد ) 2
  :أ��ب ����� :  ����ا���ر�ن ا�

  
  

                                                                  
   

�ظ ا��0ل ا��/��ل ، ��ن أن ا�ر��$�  : �ث��ا���ر�ن ا��ABCD   
  ��وازي أ �ع

  
  

  "� ا�ط�ر ا�����ب× ول ا��6 وأ��ل �و 4 $��� أ�/ل ا�5د:  را�4ا���ر�ن ا�
  
  
  
  
  
  
  
  
  

  :"� �:��� ا���� ا�درا��� و95 ����ذ ا���� ا�را��7 ������� �� ������        : ا���)��

  �ن ا�����ذ إ�= ا���� أو�= 5ذع ��0رك $�وم    

  �ن ا�����ذ إ�= ا���� أو�= 5ذع ��0رك آداب      

  �ن ا�����ذ إ�= ا���و�ن ا��:��     

  .؟ $�ل إ�5��ك��ھ� ا�70�� ا��� و95 إ��:� أ��ر $دد �ن ا�����ذ  )1

 $�ر ���ر $ن ���� ا�����ذ ا��و5:�ن إ�= �ل �ن ا�70���ن) أ  )2

  $�ر ���ر $ن ���� ا�����ذ ا���7د�ن �����) ب

��ب  9إذا ��ن $دد ا�����ذ ا���7د�ن ھو  )3�"  

  ����ذ أ��Dم ا���� ا�را��7 "� ھذه ا������� $دد ) أ    

  $دد ا�����ذ ا��و5:�ن إ�= �ل 70��) ب  

 إ��:=                                                                  
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